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20, Study the pattemn and wiite the missing numbe. 10 the square beiow
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Complete the number bonds.
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33. There are __muore circies than syuaras.
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38.

Box Cis - (@ dightor than Bos A
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Fish B is 4™ fro

Fish Ais between Fish O and Fish €
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Fish G is next to Fish B

Fill in the boxes with the correct laltars.
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Section B {4 x 4 marks )

Work out the problem sums below. All working, statements  and
answers must be cleariy showrn. ‘

43, Suping and Minah have 30 sticrers.
2

How many stickers aoas Minan have ¢

i

g

:

$

44, Jim has 21 sweets. i

He has 6 sweets fewer than Bala

How many swae's does Bala have V-

i
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